
12)(3 + (=4)) +2
= (3-4) + 2 = -1 +2= 1

3 + (f 4) +2) = 3 +(-4+2)
=

3 + (-2)
=

3 -2 = 1

Aga , (3+1-4)) +2 = 3+(74)+2)



13) (48) +1) +5=
= (- 8 +1) +5
= -7 +3 = -2

-8 + (1 +3) = -8+6 =-2

Aga,
(18) + +5 = -8(1+5)



14)(72) + 1-3)) +67
=( -z -3) +67
=

- 3 +67 = 62

(-2) + ((-3) +67) =

k64== (2) # 64 = -2+ 64 = 62

Aga , (f2)+ (-3)) +67

(2+3) +67)



15)((-1) +3)# 1 -3)
= ( -1 +3) + 1-5)
= 2 + (-5)
= 3

(-1) + (3 + (-5))
= (1) + ( -2) = -1 -2=-3

Aga,
(f1)+3)+ 1-5) = (-x)+ /3 +1-5)



76)(3 + 1-5)) + 1-2)
= (3-3) + (-2)
=
-2 + 1-2) = - -2 = - 4

3 + ((-5)+ i-2))
= 3 + ( -3 -2) = 3 +1-7) =
= 3-7 = -4

Aya , (+ (5)+1-2)= 3+)+5)+1-2))



17)
((- 2) + 1-3)) + 1- 4)
= (-2 -3) + (-4) = (-5) + 1-4)
= - 5 -4 = -9

(2) + ()(3) +1-4))
= -2 + (-3 -4) = -2+ (-7)
=

- 2 -7 = - q

Aga , (f2)+ (-3)(H-4)
= (2)+ (1-3)+ 1-4))


